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1. What’s EOQ? Describe the basic assumptions of EOQ model? Give.an inventory
model (the graph describe the relationship between inventory amount and time)
based on the previous EOQ assumptions?

2. An order for 100 of a product is processed on operation A. The setup time is 50
minutes, and the run time per piece is 9 minutes. Since this is a rush order, it is to
be split into two lots of 50 cach and run on two machines in the work center. The
machines can be setup simultaneously.

a. Calculate the manufacturing lead time if the 100 units are run on one
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machine,

b. Calculate the manufacturing lead time if the 100 units are run on two

machines simultaneously.

3. Table3.1 is a production plan for Densepack that minimizes the levels of

inventory. Using constant workforce to finish Table3.2

Table3.]
" e : =
Month = Curmulative net | Cumulative number Ratio (B/C)
demand of units produced
per worker g
January ° 780 2931 267
February 1420 6448 221
March 2320 9086 256
April 3520 12896 s
May 5520 16120 343
June 7520 18318 = 411
Table3.2 ?
A) B e D B B
Month Numberof | Monthly | Cumulative .éumulative Ending |
: units production | production | net demand | inveniory
produced per :
work
January 2.931 §35
February 3.517
March 2.638
April 3.810
May 3.224
June 2.198
Total

{4. - A machining center in a job shop for a local fabncatxon company has five
unprocessed jobs remaining at a particular point in time. The jobs are labeled
1,2,3,4 and 5 in the order that they entered the shop. The respective processing
times and due dates are give in the table below. Using FCFS, SPT, and EDD
methods to result scheduling, completion time, and tardiness.
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1 i1 61

29 45

31 31

33
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